## PROGRAM NO. 2067-S -- Optical Character Recognition Scanning TERM: December 1, 2007 THROUGH November 30, 2008

ITEM NO. & DESCRIPTION		BASIS	Integrated Desktop Solutions Beaverton, OR		Previous Intergrated Desktop Solutions	
		OF				
		AWARD	UNIT RATE	COST	UNIT RATE	COST
l.	SCANNING,BINDING,PACKING AND DISTRIBUTION:					
	<ul><li>a. Producing a gray-scale raster file: with a 200 dpi minimum.</li><li>(1) Auto-feed scanning; up and</li></ul>					
	<ul><li>including 8-1/2 x 11", cost per page</li><li>(2) Hand or book-cradle scanning;</li><li>up to and including 8-1/2 x 11",</li></ul>	3112	0.04	124.48	0.03	93.36
	cost per page  (3) Pages up to and including 8-1/2 x 11" that require image enhancement	1197	0.10	119.70	0.05	59.85
	and/or zoning. Cost per page  (4) Drawings scanned that do not	479	0.10	47.90	0.06	28.74
	require OCR. Cost per square foot	216	0.05	10.80	0.03	6.48
	<ul><li>b. Producing a color raster file: with a 200 dpi minimum.</li><li>(1) Auto-feed scanning; up and</li></ul>					
	including 8-1/2 x 11", cost per page  (2) Hand or book-cradle scanning; up to and including 8-1/2 x 11",	1071	0.05	53.55	0.35	374.85
	cost per page  (3) Drawings scanned that do not	189	0.10	18.90	0.40	75.60
	require OCR. Cost per square foot	108	0.08	8.64	0.67	72.36
	<ul> <li>c. Producing a gray scale raster file for archiva Must have a minimum of 600 dpi.</li> <li>(1) Auto-feed scanning; up and</li> </ul>	reprodution.				
	including 8-1/2 x 11", cost per page  (2) Hand or book-cradle scanning; up to and including 8-1/2 x 11",	164	0.08	13.12	0.17	27.88
	cost per page	63	0.12	7.56	0.10	6.30
	and/or zoning. Cost per page	25	0.12	3.00	0.12	3.00
	require OCR. Cost per square foot	14	0.20	2.80	0.05	0.70

II.	CD-R PRODUCTION: Prices quoted shall include to cost of all required materials and operations necess for the complete application of OCR applied to the refile, burning files to the CD-R with the required file extensions, the CD-R, labeling each CD-R, and packing in a clear plastic slim-line jewel case in accordance with these specifications.	ary,				
	(a) Producing an OCR, CD-R with with searchable files only. Burning up to and including 8-1/2 x 11" pages					
	to CD-R. Cost per page  (b) Producing an OCR, CD-R with searchable and editable files. Burning	5670	0.06	340.20	0.10	567.00
	up to and including 8-1/2 x 11" to CD-R. Cost per page	630	0.90	567.00	0.30	189.00
	(c) Burning (non-OCR) drawings to one of the above CD-R types. The drawings will have a universal	000	0.00	307.00	0.00	100.00
	file extension. Cost per square foot	349	0.05	17.45	0.02	6.98
	(d) Copying CDR's which were produced under this contract. Cost per CD	45	10.00	450.00	10.00	450.00
	·					
III.	PROOFING:					
	(a) Black imaged laser proofs, one side only.					
	1. 8-1/2 x 11", cost per proof	189	0.25	47.25	0.25	47.25
	2. 11 x 17", cost per proof	126	0.35	44.10	0.35	44.10
-	CONTRACTOR TOTALS			\$1,876.45		\$2,053.45
	DISCOUNT		NET		1.00%	\$20.53
	DISCOUNTED TOTALS			\$1,876.45	20 DAYS	\$2,032.92

Reviewed:\_\_\_\_\_

